1 TECHNICAL SPECIFICATIONS OF LEARNER’S TABLE
MARK| COMPONENTS _ SPECIFICATIONS
A |TABLE ToP 18MM THK TOP BOARD ROUND CORNER’S (1 SIDE 1.0MM THK HIGH PRESSURE
LAMINATE /1 SIDE VARNISH FINISHES ON MARINE PLYWOOD)
B | EpGING 1.0 MM THK PVC EDGING, ALL EDGES OF TABLE TOP
C SHELF METAL WIRE MESH 4MMTHKXS0X50
FRONT COVER 6MM THK FRONT COVER (1 SIDE 1.0MM THK HIGH PRESSURE LAMINATE
D / 1 SIDE VARNISH FINISHES ON MARINE PLYWOOD)
E | MAIN FRAME 1.OMMTHKX20MMX40MM STEEL TUBULAR
F SECONDARY FRAME 1.0MMTHKX20MMX20MM STEEL TUBULAR
G |ADJUSTABLE LEVELER [8MM@ THREAD WITH 38MM¢ PLASTIC BASE
CONNECTOR/FLAT BAR [IMMTHKX25MMX50MM STEEL FLAT BAR (TABLE TOP: 4PCS;SCREW)
CONNECTION WOOD TO STEEL: SCREW: E—TYPE HEX M6X13mm:(TABLE TOP)
RIVETS: BLIND RIVET (FRONT COVER)
STEEL TO STEEL: FULL WELDING CONNECTION
2a SCHEDULE OF FINISHES
TOP BOARD 1.0MM THK HIGH PRESSURE LAMINATE
EDGING 1.0 MM THK PVC EDGING, ALL EDGES OF TABLE TOP

FRONT COVER

1.0MM THK HIGH PRESSURE LAMINATE

@ ISOMETRIC VIEW OF LEARNER'S TABLE
1/ scae M

i = 3 DIMENSIONS OF LEARNER'S TABLE(mm)
METAL/STEEL TUBULAR |POWDER COATED (BLACK); SMOOTH, GLOSSY FINISH (TOLERANCE + 10mm)
LAMINATE COLOR PANTONE 729C OR COLOR HEX #bG7C45 / RGB 186, 124, 69 / DIMEN SIONS
CMYK 0%, 33% 63%, 27% WITH WOOD GRAIN (SERANO BEECH OR EQUIVALENT) MARK COMPONENTS
ELEMENTARY SECONDARY
a | TABLE HEIGHT 670 730
b | TABLE LENGTH 600 600
ﬂ ¢ |TABLE wIDTH 400 400
REPUBLIC OF TIFF, PIILIPPINTS 1 APPROVED BY : — CONCURRED 8Y: Pan ! PROJECT TITLE : B SHEET CONTENTS | SHEET ND:
DehED | : e
‘ - s el s R R 1
DEPARTMENT J§f OF EDUCATION 2
E%ﬂ%ﬂéﬂdﬁiﬂ!ﬁ@ ARCHITECT CATION FACIITIES DVSION nn':’rm y for Currieulum ni&yhing (WOOD & STEEL) [SOMETRIC VIEW \ ] 3




DEPED ELEMENTARY SINGLE LEARNER’'S TABLE

600 7
WIRE MESH 1.0MM THICK
AMMBX50X50 STEEL FLAT BAR
400
SHELF STIFFENER
1.0X20X20
= |
TOP VIEW
I s20 — 2] 305 : PLASTIC
- - —f 4 CAP
i—-— - - .
W B ADJUSTABLE
/ GLIDE
o PROVISION
ek
e o "
[95'
f
f [' 192
670 y / )
670 656 | i A
| J FRONT COVER BRACE
| |' 1.0X20X20
510 I|I I ~
[ { | .
[ ] | “““x“‘/m
[ ’ | t | |f.\s4- S
200 'I || \
| ' 7 MAIN FRAME
| - I 1.0X20X40
LR —. = f—_— 'l S
200 540 Lo 425 TABLE FRAMING
PERSPECTIVE VIEW
FRONT VIEW SIDE SECTION VIEW
REPUALIC OF TIE PITILIPPINES | APPROVED BY : CONCURRED BY: — ] PROJECT TITLE : — SREET CONTENTS | SHEET NO: .
D ED LEARNER'S TABLE RO Viw 4 2
prearna M of Epucation ANGAN I g i W PRAMING PERSPECTIE VEW W
@ EDUCATION FACILITEES DIVISION TION FACILTIES DMISION j Undermmhaslm ure | Undersecrelary hing ( OOD & STEEL) \ 3 /

MLRALCO AVENUE, PASIG CTTY




600

SECONDARY SINCGLE LEARNER'S TABLE

DEPED

WIRE MESH 1.0MM THICK
AMMBX50X50 STEEL FLAT BAR

SHELF STIFFENER
1.0X20X20

HARD HAT

- \\_
N

/ f“

DEPARTMENT f OF EDUCATION
EDUCATION FACILITIES DIVISION
MERALCO AVENUE, PASIG CITY

-

Unders hool Infrasiruclure

Undersecretory far Scl
and Facilities

\ -
| q:"l"l
TOP VIEW
600 -
e 580 ) /ﬂlf
Bye PLASTIC
= [z CAP
S .
[ / ADJUSTABLE
. GLIDE
)[ / PROVISION
34.. 10" K
> y s X IJI'A{'& T
E 95 _f
r 192 36+-55-+47
T L1.0X20%20 3
-m.hx"h%ﬁm
g ~
240 | 84 Q}
|
' 4 : MAIN FRAME
/ | 1.0X20X40
. el 40|
200 . TABLE FRAMING
FRONT_VI SIDE SECTION VIEW PERSPECTIVE VIEW
REPUBLIC OF THE PHILIPPINES JRECWM[NDING APPROVAL APPROVED BY : CONCURRED BY: b 7 { PROJECT TITLE SHEET CONTENTS | SHEET NO:
% LEARNER'S TABLE FoNT Vew
e & o o (WOOD & STEEL) s ek wen g
Undersecretary for Curriculum and Teaching 3




(1 \ISOMETRIC VIEW OF LEARNER'S CHAIR
-M

w SCALE

DIMENSIONS OF LEARNER’S CHAIR (mm)
(TOLERANCE £ 10mm)

TECHNICAL SPECIFICATIONS OF LEARNER'S CHAIR

MARK

COMPONENTS

SPECIFICATIONS

A SEAT

BLOW MOLDED PLASTIC
HIGH-DENSITY POLYETHYLENE (HDPE)

B |BACKREST

BLOW MOLDED PLASTIC
HIGH—DENSITY POLYETHYLENE (HDPE)

C BACK SUPPORT

Bl PIPE TUBE 1.0MMX22MM@

D |SEAT SUPPORT

Bl PIPE TUBE 1.0MMX19MM@

E BACK LEG

Bl PIPE TUBE 1.0MMX22MMg

F FRONT LEG/BRACE

Bl PIPE TUBE 1.0MMX22MM®

G LOWER SEAT SUPPORT

Bl PIPE TUBE 1.0MMX19MM@

| COVER CAP

PLASTIC GLIDE

HDPE TO STEEL:

BACK HDPE TO STEEL — SELF TAPPING SCREW/RIVET

SEAT HDPE TO STEEL — TMM THK 25MMX30MM FLAT BAR, M6X12

SCHEDULE OF FINISHES

SEAT PANEL
BACKREST

HIGH-DENSITY POLYETHYLENE (HDPE) PLASTIC (BLOW MOLDED)

METAL/STEEL TUBULAR

POWDER COATED (BLACK); SMOOTH, GLOSSY FINISH

| DIMENSIONS

OMPONENTS : HDPE COLOR REFER TO COLOR CODE PANTONE 4685C OR COLOR HEX: #cda788 /
COMPON ELEMENTARY SECONDARY RGB: 205, 167, 136 / CMYK: 0%, 19%, 34%, 20%
SEAT HEIGHT 390 430
SEAT DEPTH 380 380
SEAT WIDTH 370 370
BACK REST HEIGHT 700 800
BACK REST WIDTH ﬁﬂo 410
.
REPUBLICOF THE PHILIPPINES l RECOMMENDING APPROVAL : | APPROVED BY : | CONCURRED BY: PROJECT TITLE : SHEET CDNIENTS | SHEET NO:
‘ : sl
| LEARNER'S CHAIR £ AeelicATin - )
DEFARTMIDN] A LDUC AT h
@ T'}.Z‘."."f.‘iiﬂ?ﬁ'ﬁﬁ? RCATECT CHEF - EDMATION FACILITIES OISO Uiaami—wmsu ure Undersecrelary for Curriculum ond Teaching | (HDPE & STEEL) ISOMETRIC VIEW \\\ 5 ) /"l




( - ) DEPED ELEMENTARY LEARNER’S CHAIR

¢ 410
B Ty, T Y . |
| //Q“:r\] - DepED~ | DpepEDLOGO
N SPECIFICATIONS
[| i s ——t= e -
| == | — FOR ALL
}-ij- TR T LEARNER AND
L ‘ TEACHER'S CHAIR
‘ .':___ i — ——
‘ 380 — -
‘ KT | BACK HDPE
\ | | G || —
/
N A | \
579 |
TOP VIEW | | o '
a0 REAR VIEW _ SEAT HDPE
— —— e e LOWER SEAT ~,
R FRAME NS ——) SEAT SUPPORT
‘ @ \I \ \\ 1.0X19mme Bi PIPE /{' e = = = '| | 1.0X19¢ Bl PIPE
Vo / [ T— T '
L4 il = | & 1 BRACE
| 1\ \ \.\ / [ | . /“—/—f — | 1.0X22¢ Bl PIPE
. . e BACK LEG | = /| |
N '.,,A,\u 1.0x22¢ BI PPE ] | | | ff / |
. . [ | [ FRONT LEG
| ‘ ‘ S( [f | ] U |+’ 1.0X229 Bl PIPE
| \Trog U | |
700 | = -—~{ ] 700 i\\_— l—_::_:_e‘:—;_:/g_ﬂj 7 || l| L
e = | —4 kl_—__—_____ == =
I E =—————— | = \ \ 100 8  pLASTIC GLiDE
‘ ———rr——— X ,f_Z: — TR — _—H’I/J' PLASTIC GLIDE
| |
| 390 ! /f \ \ 390 ’
| 2E -//'/ \ LEARNER’S CHAIR
| /] \ PERSPECTIVE VIEW
/. st
‘ 1/ 82" ||
. | - T N
420 — 410
FRONT VIEW SIDE VIEW
77 n
REPUBLIC OF THE PHILIPPINES Dﬁlm BY : . - | RECOMMENDING ﬂ’PROVAL: APPROVED BY : ' | CONCURRED BY: / .f | PROJECT TILE : i | SHEET CONTENTS [ SHEEI NO:
ED () ‘ LEARNER'S CHAIR | Zremssecmeww o |/ 2
DEPARTMENT §§ OF CDUCATION ‘ ENGR. AN F A GINA 0.“:ONONG :;giRV'&gw
E?AE%P?EEQEE‘E?AEIXEIE’N . T ARCHIECT CHEF - £D1 y Uﬁd‘e_rwmwol'mh ftruciure | Underseerelory for Curricuim and Teachjng (HDPE & STEEL) —gﬁJOEN'\f/IE/IwEW :\ 5




410 —
LE 388 AJ
f; N
it19 1911l
U - S
R o
| ~7 [
M 150
e 1 SR ji-—
\\\ | 108
>1‘::7—- = |
SHOULD MATCH 337
RaoiS /. 375
F HOPE SEAT
TOP VIEW
410
221'-1'— 366 i 22
Il M|
] |
| |
i |
| |
i i
| |
' |
iF——= ||
665 11 VHH
al _ﬁw
! il
[ R 1011
| |
It |
! 1
1! I
[ [
= | o il

B.l PIPE 1.0MMx18mm@

SPOT DETAIL 1

DEPED ELEMENTARY

LEARNER'S CHAIR

ANGLE BOLT PLATE

MS PLATE 1.0 THK

SPOT DETAIL 2

REPUBLIC UF 1HE FRILIPPINES

SIDE _VIEW

¥ e

/

BACK SUPPORT & BACK LEG

Bl PIPE 1.0X22¢

BOLT ANGLE PLATE

MS PLATE 1.0 THK

SEAT SUPPORT
Bl PIPE 1.0X19¢

BRACE

Bl PIPE 1.0X22¢

FRONT LEG
Bl PIPE 1.0X22¢

L LOWER SEAT SUPPORT

Bl PIPE 1.0X19¢

PERSPECTIVE VIEW

LETee

RECOMMENDING APPROVAL :

CONCURRED BY: ‘L‘ )

|

| PROJECT TILE

SHEET CONTENTS

| seeT o
T——

e ’ ELEMENTARY LEARNER'S CHAIR 3 \
LEARNER'S CHAIR ~GHAR FRAUE (TOR FRONT, SOE VEWS)
i il ey ENGR. LLERR, / DENSING 1 A 0. GONONG ( ) s =
6'93 trlur.rnnﬁ FALILIT smﬁm- = N dersecrelory for School Infraslructure Undersecretory for Curriculum and jeasning I H D P E & S TEEL pETLS
o MERALUU AVINUE PANG CITY ARCHITECT CHIEF - CATION FACILITIES DMSION g Facillies S 5 __./

7



L -370

TOP_ VIEW

. T}; 410
|

800 [ F————

DEPED SECONDARY LEARNER’'S CHAIR

DEPED LOGO
SPECIFICATIONS

FOR ALL

LEARNER AND

TEACHER'S CHAIR e\

( O - \'; BACK_HDPE

|

| " L BACK SUPPORT
k\ P 1.0%X22¢ BI PIPE
= 1
' \ l' |||
- \ I { |
e SEAT HDPE
LOWER SEAT " )
FRAME _—————=] SEAT SUPPORT
1.0X19mme BI PIPE —— j];j‘__-—-—**] | 1.0X19¢ BI PIPE
vl | | BRACE
_.-:"_ = ."I J; \ 1.0X22¢ Bl PIPE
| |
BACK LEG || FRONT LEG
1.0X2292 Bl PIPE |l.f }{,l ‘T 1.0X22¢ Bl PIPE

[ pLASTIC cLipE

PLASTIC GLIDE
430 L PLASTIC GLIDE

LEARNER'S CHAIR
PERSPECTIVE VIEW

REPUBLIC OF THE PRILIPPINES

LLLLLLLLLLL

—SIDE_VIEW

| PROVECT me: — "s_nm covtents - J.SHEE’T NO: :
LEARNER'S CHAIR Seeseen e /4
(HDPE & STEEL) | R —

| —FRONT VIEW I\ 5



SHOULD MATCH
OF HDPE SEAT

DEPED

SECONDARY LEARNER’'S CHAIR

410
tﬁ 388-
' LOWER SEAT SUPPORT

RECTANGULAR
Bl PIPE 1.0X19¢ ANGLE BOLT PLATE

MS PLATE 1.0 THK
O J — ,f%.
/ N\ 'KH%_ \\\.
O Illf \“ |'ll.l -~ -\-\-\_"‘-\-\:— ‘
l‘ - "‘?’I | f\;?/ d /
—— ¥ \ /
{"j___,- \ N o /

SPOT DETAIL 1 SPOT DETAIL 2

RADIUS

r[

||l||
- !
i \\ |
| I
A

REPUBLIC OF THE PHILIPPINES

/

BACK SUPPORT & BACK LEG
Bl PIPE 1.0X22¢

BOLT ANGLE PLATE
MS PLATE 1.0 THK

SEAT SUPPORT
Bl PIPE 1.0X199

BRACE
Bl PIPE 1.0x229

FRONT LEG
Bl PIPE 1.0X22¢

\_ LOWER SEAT SUPPORT
Bl PIPE 1.0X19¢

PERSPECTIVE VIEW

o

BEFANTMONT OF LI ATHIN
ENUCATION F 5 BV S0
MERATUU AVENLE FANKG CITY

GINA 0. GONONG

] PROVECT THTLE :

Undersecretary far C.rriculam und Tmchinf |

|
SHEET CONTENTS

HEET NO:
| LEARNER'S CHAIR T T W;P
(HDPE & STEEL)

|/|

5
5

]




1 TECHNICAL SPECIFICATIONS OF TEACHER'S TABLE
MARK|  COMPONENTS SPECIFICATIONS
A |TABLE TOP 18MM THK TOP BOARD ROUND CORNER'S (1 SIDE 1.0MM THK HIGH PRESSURE
LAMINATE /1 SIDE VARNISH FINISHES ON MARINE PLYWOOD)
[ & EDGING 2.0MM THICK PVC EDGING

C SIDE COVER

6.0MM THICK MARINE PLYWOOD W/ HIGH PRESSURE LAMINATE

D | FRONT COVER

6.0MM THICK MARINE PLYWOOD W/ HIGH PRESSURE LAMINATE

E PULL OUT DRAWER

DRAWER FACE : 1 SIDE 1.0MM THK HIGH PRESSURE LAMINATE /
1 SIDE VARNISH FINISHES ON 18MM THICK MARINE PLYWOOD
DRAWER BOX : 12mm THK MARINE PLYWOQOD W/ SOLID WOOD EDGING

VARNISH FINISHED
DRAWER LOCK : 1 LOCK ONLY PER TABLE,

DRAWER GUIDE 400MM LONG RAIL GUIDE (BALL BEARING TYPE)
_F LEG 1.0MMTHKX30MMX30MM STEEL TUBULAR ]
G |BRACES 1.0MMTHKX30MMX30MM STEEL TUBULAR
H | ADJUSTABLELEVELER | 8MM@ THREAD WITH 38MM@ PLASTIC BASE
CONNECTION STEEL TO STEEL: FULL WELDING ‘
WOOD TO STEEL: THREADED NUTS E-TYPE HEX M6 X1 3mm LENGTH (TABLE TOP) ‘
BLIND RIVETS ( FRONT COVER / SIDE COVER ) | |
| WOOD TO WOOD: WOOD GLUE AND FINISHING NAILS 7 H
2a ‘ SCHEDULE OF FINISHES
— (T\ ISOMETRIC VIEW OF TEACHER'S TABLE
TOF BOARD 18MM THK TOP BOARD ROUND CORNER'S (1 SIDE 1.0MM THK HIGH PRESSURE 1 Jscae -
LAMINATE /1 SIDE VARNISH FINISHES ON MARINE PLYWOOD) |
|
EDGING 2.0MM THICK PVC EDGING
- ’ DIMENSIONS OF TEACHER'S TABLE (mm)
METALISTEEL TUBULAR | powDER COATED (BLACK); SMOOTH, GLOSSY FINISH 3 (TOLERANCE + 10mm)
PANTONE 729C OR COLOR HEX #ba7cd5 / RGB 186, 124, 69 / J ]
LAMINATE COLOR CMYK 0%, 33%, 63%, 27% WITH WOOD GRAIN (SERANO BEECH OR EQUIVALENT) MARK COMPONENTS DIMENSIONS
| | a TABLE HEIGHT 750
b TABLE LENGTH 1200 J
J c TABLE WIDTH 600 \
i U ‘
REPUBLIC OF Thi1 PHILIPPINES

FIRICATION FACTLITIES DIVISIEN

MERALLY AVEMLIE P LTTY

Undersecrelary for Schaol Infrostructfe
ond Facilities

— V_[

| CONCURRED BY:

PROJECT TMLE

SHEET CONTENTS

TECHNICAL SPECIFICATION

GINA Q. GONONG
und_ersccretury for Curticlom and T&rgu’ng

TEACHER’S TABLE
(WOOD & STEEL)

| SCHEDULE OF FINISHES
EDGING APPLICATION
DIMENSIONS

| ISOMETRIC VIEW

-




g %0 _oe g 00
jF 1190 ‘ 90 * 7 590 7

/A %0, £ 590 &
s e —— DN pm——
T I |7|‘ﬂ|¢‘ N || ijgﬁﬂ
| | |

i

RIGHT SIDE ELEVATION SECTION

REPUBLIC OF | 1iE PHILIPFINES

ucrak Mot B of cuucaTion
FIRCATION FACILITIES DIVISIGN:
MERALUL AVENLIE PASKSEITY

Undersecrefary for Curriculum and Teaching | SECTION
o

S

/) /
CONCURRED BY: | provect T ; J SHEET CONTENTS Jﬂm No:
PLAN
% TEACHER’S TABLE f PERSPECTIVE K 2
GINA 0. Gllone (WOOD & STEEL) FRONT ELEVATION —

7



TEACHER'S TABLE

P - R ————  18MMPLYWOOD TOP IN HPL FIN.

6MM PLYWOOD IN HPL FIN.

6MM PLYWOOD IN HPL FIN.

6MMPLYWOOD INHPLFIN, |

REPUBLIC OF THE PHILIPPINES

)

H CONCURRED BY: ‘ PROJECT TITLE :
| v

PLRAR LT I OfF EBUCaTION
EDOCATHIN FACILITIES DIVISON
MENALLD AVENLE PAKILLITY

| SHEET CONTENTS SHEET NO:

‘ TEACHER'S TABLE f 3
GINA 0. GONONG (wOnon & STEE L) TEACHER'S TABLE EXPLODED VIEW . g —
| N5/

ENGR.
CHEF ~ TTCATION FACILINES DM

Undersecratary for Curriculum and Tem:y\g




— 30X30X1MM TUBULAR
BRACE IN BLACK POWDER

COATFIN,
30X30X1MM TUBULAR
30X30X1MM TUBULAR — — 30X30X1MM TUBULAR +' — Aﬁ —— Ic':\loE\LTAgz POWDER
IN BLACK POWDER IN BLACK POWDER | -
COATFIN. COAT FIN.
-~ 30X30X1MM TUBULAR
Jﬂ IN BLACK POWDER
il COAT FIN.
|
H
~ 25mmX50mmX1MM THK.
30X30X1MM TUBULAR / g&ﬁ%&;\i COATED STEEL
IN BLACK POWDER
COAT FIN. ) )
‘|. T ——)
¥
‘ | R i 30X30X1MM TUBULAR
| | ‘ p = il ——— INBLACK POWDER
| < COAT FIN,
| I I
30X30X1MM TUBULAR |_ — S | 4 —
— IN BLACK POWDER | -— |
COATFIN, | ‘
‘ ‘ | e 30X30X1MM TUBULAR
| POST IN BLACK POWDER
| | COAT FIN.
- 30X30X1MM TUBULAR N
POST [N BLACK POWDER
FRONT
|
Ae ADJUSTABLE 290
GLIDES ok
T—r
l_ T
A—l- 30X30X1MM TUBULAR
30X30X1MM TUBULAR ‘ = —— ——— ————— INBLACK POWDER
POST IN BLACK POWDER | COAT FIN,
COAT FIN. ‘
e - |
0X30X1MM TUBU
30X30X1MM TUBULAR — 6MM PLYWOOD IN HPL FIN, ! ‘ [ L = ?,OST ,N1 B,'_“ACK pécv%ER
BRACE IN BLACK POWDER — | COAT FIN
COATFIN, | | | y
L |-
//— )
REPUBLIC OF THE PHILIPPINES APPROVED BY : L | concurReD B: | PROJECT TITLE : SHEET CONTENTS SHEET NO:
|__ i — == 50 SR — ——— (S
T METAL FRAMING PERSPECTIVE I N,
TEACHER’S TABLE 4
DEPARTMENT 8 OF CDUCATION GINA 0. GONDNG (WDDD 8( STEEL)
EI;‘L%"J?HCENUE PAB[’Z‘S]Q:‘ ARCHTTECT ! u,.dersecmorznl:rrfgimls “nirasiructure Undersectelory for Curriculum and Teochigg | |\ .
— 7




METAL CENTRAL DRAWER DETAIL

314
r— »
| L wa
e - 40 314 34
T H f A
|
| sl F g i/ //—m o> | | 18MM THK DRAWER FACE
| 6MM THK MARINE PLYWOOD ol w & —— IN HPL FIN. PROV. LOCK
S| | = | (SEE PAINTING SCHEDULE) H\L \O | || || W/ 1MM PVC EDGING
= oN——t 4
|| | L L S e
| i _ | ~ 18MM THK DRAWER FACE
| | e e S FRONT ELEV,
I b Jﬁ
e ‘ — 12MM THK MARINE p 400
S PLYWOOD e
PLAN / (SEE PAINTING SCHEDULE) 8
“ﬁ,‘_-’__/r"‘[‘\w\_‘_-_.‘_‘f:;‘*‘m s * —i‘rr— —H_
o | / g o T T 1 tawm MARINE PLYWOOD
_— —_ = = | | ——— ['l— (SEE PAINTING SCHEDULE)
~ - - ) — | ' 1
|| - T Bl . — = |II ‘L_LDHL _E‘—
== P |
|| S~ =~ -7 18MM THK DRAWER FACE
== —
I T o oo RIGHT SIDE VIEW
T ~— I ~
~| _— PERSPECTIVE 400
— | P e Tg —— b — —_— == _*‘

. | +T — 6MM THK MARINE PLYWOOD
e T E‘T_ = | (SEE PAINTING SCHEDULE)
f PAINTING SCHEDULE O

- BB O.8 —_— o %
SANDING —|’_ ALL SURFACE TO BE COATED SHALL BE SMOOTHLY SANDED | ﬁl_ _!_Lfimxzzf@:(z‘?ilmz/_mzfymr
—_— —— _— —ous |
L 18T COAT ‘ OIL WOOD STAIN - WHITE OAK FULL COLOR
— SECTION

| INTERMEDIATE CO/-F[ LACQUER SANDING SEALER

- -— — -

TOP COAT ‘ CLEAR GLOSS LACQUER (2 COATS) |

| APPROVED By : - CONCURRED &r: PROJECT TITLE : SHEET CONTENTS | SHEET NO:
= ] O = = AN —|— S e —I—=_.L__
N METAL DRAWER DETAIL 7 i
| TEACHER’S TABLE “FRONT ELEVATION f 5 )
-SECTION A
Al NS GINA 0. GONTING (WOOD & STEEL | -EXPLODED VIEW L

Undersecretary for Curricuum and | Teaching I -PERSPECTIVE
|
7

REFULILEIF | WY SYELIPFINS

DepED

etak eyt I o trcaton
EDUCATION FACTLITIS DEVA0R
[

HERALITY AV ERLE. PANIETTY

Tdersecrelory for Schoo! Infrastruciure
and Facililies




| 1 ‘ TECHNICAL SPECIFICATIONS OF TEACHER'S CHAIR

MARK COMPONENT - SPECIFICATIONS
|BACKREST 18mm THK BACKREST PANEL (0.9mm THK HIGH PRESSURE LAMINATE ON MARINE
‘ + | PLYWOOD) W/ PYC EDGING
B ISEAT 18mm THK SEAT PANEL (0.9mm THK HIGH PRESSURE L LAMINATE ON MARINE
| | PLYWOOD) W/ PVC EDGING & 5 VENT HOLES 5 (12mmo)

| ‘BACKREST SUPPORT | OBmm THK X 30mm x 30mm STEEL TUBULAR

- | D |LEG J 0.8mm THK x 30mm x 30mm STEEL TUBULAR
| | E[SEAT SUPPORT | Tmm THK x 30mm x 30mm STEEL TUBUIAR
i R —— e _— _| —_— — _— _— —_— — o — _— — — —_—
| | F|LEG BRACE ITmm THK x 30mm x 30mm STEEL TUBULAR
C—— '_ 3 | G AFTJOTING HARD PLASTIC (BLACK)
| EDGING PVC EDGING o o
o I ___|__—————————____-
%| g CONNECTION
'd] S— — — —ee — — — — S— —_— — —_— — — — —
:fJ | ’ WO0D TO STEEL 1mm THK x 25mm X 75mm FLAT BAR (FOR’ BACKREST -~ 1)
dz —_— = — — —— — S— -
E— §| | Tmm THK x 25mm x 50mm FLAT BAR (FOR BACKREST - 2)
2 S — =
D——>r | i mm THK x 25mm x S0mm FLAT BAR (SEAT)
| | | | M6 x13mm E-NUT AND SCREW (WOOD NSERT) ]
| | | STEEL TO STEEL mLL WELDING ~ FOR TUBULAR TO TUBULAR CONNECTIONS:;
| | ADEQUATE WELDING - FOR B.. PIPE TO FLAT BAR CONNECTIONS
| 2 | SCHEDULE OF FINISHES
BACKREST & SEAT —L HIGH PRESSURE WODD GRAIN LAMINATE W/ PVC EDGING
| | METAL / STEEL L POWDER COATED (BLACK); SMOOTH, GLOSSY FINISH
LAMINATE COLOR _L SERANO BEECH OR EOUIVALENT
1 \ISOMETRIC- TEACHERS CHAIR 2 T = e - - =
.1 _JSCALE | 3 | DIMENSIONS OF TEACHER'S CHA|R (TOLERANCE OF -HOmm)
—_ == e
| COMPONENT | DIMENSIONS (mm)
L-_____SEATHEIGHT _j______zt_w—______
SEAT DEPTH I w0
e 1 S — - e—
WOOD GLUE SHALL BE APPLIED BEFORE INSERTING E~NUT INTO THE PLYWOOD | BACKREST HEIGHT A_ 850 =
CORNERS OF BACKREST & SEAT PANELS//US‘T’E’)‘{OUNDED o BACKREST WIDTH o _|' e ——— 350 -
REFUBLIC OF THE PHILIPPINES | sl B ; RECOMENDING APPROVAL : _‘APPREDBY:_ : — + CONCURRED lpkﬂ mes _ ISHEET CONTENIS - END
DeVED ( 77/ ' | | TercsERsoun romer. s o s aue |/ 1
DEPARTMENT EDUCATION A . ENSIONS ]
@ EDUCATONFAOLITES VSN — | ¥ Tor_School Tnfrastruc | Undersecrelory for Currculum ond Teoghing (WOODS STEEL) |gg"z's"'CN VIEW .r'\ 3
MERALLU AVENUE, PASIG CITY ] 1

and Facilities

=4 4




350 . T
BACKREST SUPPORT W, BackresT Wi — |
HARD PLASTIC OR STEEL END CAé_ \ ‘ BACKREST WIDTH | |
¥

~——SEAT SUPPORT 0y
18mm THK BACKREST PANEL SECURELY e T HACKREST SUPPORT
FASTENED TO FLAT BAR W/ MG T ——1 i - ‘ T
E-NUTS & SCREWS ON EACH SDE [ [ _ _ _ _ & ey ‘ |
-
18mm THK SEAT PANEL SECURELY °© © E: ‘ 400 L
FASTENED TO FLAT BAR W/ THREE (3) = SEAT DEPTH ‘ 18mm THK SEAT PANEL SECURELY
M6 x13mm E-NUTS & SCREWS ON EACH SDF T ‘I 5 _~—FASTENED TO FLAT BAR W/ THREE (3)
& |a A M6 x13mm E-NUTS & SCREWS ON EACH SIDE
o g4 = |
5-12mme VENTILATION HOLES— 0 < 3= ————w—— =T
| = @ {3 = g SEAT SUPPORT
SEAT CONNECTOR _ & |§‘<‘
BELOW THE SEAT il el ‘ =]
- A o o [e3]
SEAT SUPPORT = o - ¢
[Crezzoocd B
\ l ‘ S
e
| <
L 400 J | L— 4—;7# {EG BRACE
SEAT WIDTH ‘ g
—
[MPLAN | |
L2 Jscae T:50M . -
350 ( 3 LEFT-SIDE ELEVATIQN
f BACKREST WIDTH .2 /scate TI50M
— — —— e | 18mm THK BACKREST—1 PANEL SECURELY . T
T = SO fASTENED To FLAT BAR W/ TWO (2) 1~ ———#4RD PLASTIC OR STEEL END CAP
2 ol fo M6 x13mm E-NUTS & SCREWS ON EACH SIDE
A i ) Jl Lo
| | | vt BICKREST SUPPORT
= | —ACKREST SUPPORT
! == = 18mm THK BACKREST PANEL-2 SECURELY
| ol - T ASTENED TO FLAT BAR W/ ONE (1)
=] o lo M6 x13mm E-NUT & SCREW ON EACH SIDE ‘
|’£ ! 400 ] I =
o 2 - ———————p 2 &
W | ' [TE)
. ‘I l | | ]! | 18mm THK SEAT PANEL SECURELY ol T
3= = i ~—TASTENED TO FLAT BAR W/ THREE (3) R =
© 9 [ ————— 1 M8 x13mm E-NUTS & SCREWS ON EACH SIDE °°|$
g . g
< e 5EAT SUPPORT | ‘i—c’
o = @
|l1—: : 156 = S SEAT SUPPORT
& ‘ &
e g —
o 3 e ———i6
‘ = ‘ o EG BRACE =
Ll e L
|V, |w —| |G BRACE
| — S —— 1
8| | — |
J_ o L u = (- 4 2 J i
/2 FRONT ELEVATION F'-?‘ RIGHT-SIDE ELEVATIO_N
|2 Jscale T1:soM \_2 JSCALE T: 50 M
NOTES: .t 2.
WOOD GLUE SHALL BE APPLIED BEFORE INSERTING E-NUT INTO Ti Firwoep
CORNERS OF BACKREST & SEAT PANELS MUST BE ROUNDED - - Vil
REPUBLICOF i1( PHILIPPINES | appROVED BY : | CONCURRED BY: PROJECT TITLE SHEET CONTENTS [ seer No:
f" | TEACHER'S CHAIR PLANS & ELEVATIONS - TEACHER'S GhAR |/ 2
DCPARTMENT lf OF CDUCATION ‘ GINA 0' 'ONONG [ (WOOD & STEEL) ‘
EDUCATION A TS DIVISION ¥ for School Infrasiicture Undersecretory for Curriculum od_j zaching w3
MERALCO AVENUE, PASIG UITY and Facilities r | ﬂ) | [\ /
7




¥ for Sehool Infrasi
ond Facilties |

MEEALET AVINUL FARN, U111

y for Curticulum and Tp_'ng

SPOT DETAILS

| Y,

! | ~BACKREST -
‘ 6 x3mm E-NUT W/ SCREW T
| ,| —HACKREST SUPPORT \ - 0.8mmTHKx38mmx38mm POWDER COATED
§| | | \ | STEEL TUBULAR BACKREST SUPPORT —— ~ 18mm THK SEAT PANEL
——{ACKREST
‘ . O| ——M6 xT3mm E-NUT W/ SCREW [ W/ PVC EDGING
| ‘ S _ o _Imm THKx25mmx75mm M6 x13mm E-NUT W/ SCREW
‘é SEAT DEPTH f.-—| SEAT | STEEL FLAT BAR, POWDER COATED | |
|
| R ooy | _18mm THK BACKREST-1 PANEL \ | r —t Kz mmaSOmm
w‘& 4\?\ = | W/ PVC EDGING ‘
|
0%:’ | N N\ —SEAT SUPPORT = . i | | J i
® | | U, U
IR .
| 3T | g e
=z EQUAL ~ EQUAL 1 . — 3 T e
| ‘é t— 176 BRACE T 18mm THK BACKREST-2 PANEL B
/_{ \ W/ PVC EDGING |
| — % 30mmx30mm POWDER COATED
I HARD PLASTIC STEEL TUBULAR SEAT SUPPORT
‘ FOOTING 3| —M6 x13mm E-NUT W/ SCREW . L ATS
S L« = Imm THKx25mmx50mm STEEL |
FLAT BAR, POWDER COATED
_jCROSS SECTION | DETAIL - 2
SCALE 1:50M _| o &/SCALE T EOM
18mm THK BACKREST-1 PANEL SECURELY
o TASTENED TO FLAT BAR W/ TWO (2) [
s M6 x13mm E-NUTS & SCREWS ON EACH SIDE
— ol (3\DETAIL-1
= - BACKREST—1 CONNECTOR fdl 9_ _—
I_ '—r \)«"j’_ = W/ M6 x13mm E-NUT & SCREW N3./scALE $50M
8 o -
‘ i o o
i il 18mm THK BACKREST PANEL-2 SECURELY
——— FASTENED TO FLAT BAR W/ ONE (1
‘ 8 == - Va M6 x13mm E-NUT & SCR/BN ON (E;)\CH SIDE M6 x13mm E~NUT W/ SCREW
P
] BACKREST-2 CONNECTOR
| = i—| B W/ M6 x13mm E-NUT & SCREW ‘ 25 ,
e o ] = 30mmx30mm POWDER COATED 1,
|§ = 18mem THK SEAT PANEL SECURELY 7 / SEAT) STEEL TUBULAR LEG
ol- 44— V) - FASTENED TO FLAT BAR W/ THREE (3) :{“ (7
8a = = M6 x13mm E-NUTS & SCREWS ON EACH SIDE
B | —= __%¢ —
|E.5 | Jf ===—TFAT SUPPORT N _ 30mmx30mm POWDER COATED %
= A . STEEL TUBULAR SEAT SUPPORT \ |
(&}
| SE \_ ‘ 30mmx30mm POWDER
hi ~—COATED STEEL TUBULAR
b — G BRACE
‘ |§ A o | LEG BRACE
| o ‘s \DETAIL-4 _
| 5 DETAIL - 3 8 —
P _l \Jr - 3 SCALL T BN 5E Jseae 50 M
5:
72 ) REAR ELEVA;|O7I1,_\ 5‘:35% GLUE SHALL BE APPLIED BEFORE INSERTING E-NUT INTO THE PLYWOOD
3 fseae Wk ) CORNERS OF BACKREST & SEAT PANELS MUST BE ROUNDED
REPUBLIC OF THE PHILIPPINES I g -8 / 7 | RecammEnDIG APPROVAL : ‘ APPROVED BY:_ 4'> CONCURRED BY: —l PROJECT TME ;- S — | SHEET CONTENTS - +SHEET ;- _s
‘ - ‘ TEACHER'S CHAIR [t e /3
S oteakrsgrser | o e o DENSING 1 GINA ©. GINONG
L OREATION FACLATES DV e | S (WOOD & STEEL)
o J

‘ REAR ELEVATION

7



